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A study of how to display the signal from a load cell with a computer
BY  Miss. Pimnipa Chinachot
Mr.  Wasin Kullasut
Mr.  Wasuthep  Khlueadi
ABSTRACT

At present, impact gauges in the industry And in various laboratories, there are many
models to choose from. And most of them are imported from abroad for a relatively high price.
Also, the result display format in some models is not displayed in graph format. This research
project has studied and built a receiver from a Load Cell using Load Cells that can support a
weight of not more than 50 kg, 4 units installed with a signal meter connected to the HX711
module as a module for amplifying the sensor signal. of Load Cell for Arduino to read the
measured force value and bring the value obtained from the load cell to display on the computer
in the form of a graph compared to the time. By using the Matlab program, which will be able to
see the impact value compared to time immediately, and the price is not very high, it can be

developed for use in small laboratories of educational institutions.

The test was divided into two parts: the first part was to determine the tolerance of the
receiver by comparing the weight of the standard pendulum at 250 g, 500¢, 750¢ and 1000g. at
+2% in the second part, the Dorp test at various heights. From the trials at heights of 50, 60 and
70 cm, there was a discrepancy of not more than £10%. Design a receiver that is not suitable for
handling heavy impact. Limited time and materials So the receiver from the load cell was able
to measure satisfactorily. and can conduct a study of the signal from a dozen cells. Average

impact study and the maximum impact force



